
N = 2557
2557 circles in a circle

radius =   0.018558242953
ratio  =  53.884411500521

density  = 0.880652231491
contacts = 4493
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N = 2558
2558 circles in a circle

radius =   0.018553462869
ratio  =  53.898294191154

density  = 0.880542858214
contacts = 6325
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31-MAY-2014

N = 2559
2559 circles in a circle

radius =   0.018554611515
ratio  =  53.894957553626

density  = 0.880996164037
contacts = 4615

 E.SPECHT
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N = 2560
2560 circles in a circle

radius =   0.018544842439
ratio  =  53.923348408694

density  = 0.880412623544
contacts = 4628
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N = 2561
2561 circles in a circle

radius =   0.018544787416
ratio  =  53.923508398790

density  = 0.880751308355
contacts = 4914
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N = 2562
2562 circles in a circle

radius =   0.018543146542
ratio  =  53.928280064764

density  = 0.880939302785
contacts = 4439
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N = 2563
2563 circles in a circle

radius =   0.018540613472
ratio  =  53.935647897003

density  = 0.881042393678
contacts = 6728
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N = 2564
2564 circles in a circle

radius =   0.018532503131
ratio  =  53.959251640638

density  = 0.880615215820
contacts = 5222
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N = 2565
2565 circles in a circle

radius =   0.018526069203
ratio  =  53.977991176952

density  = 0.880347090923
contacts = 6407
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N = 2566
2566 circles in a circle

radius =   0.018521581056
ratio  =  53.991071116791

density  = 0.880263643730
contacts = 6400

 E.SPECHT
31-MAY-2014

N = 2567
2567 circles in a circle

radius =   0.018510740353
ratio  =  54.022690660804

density  = 0.879576154117
contacts = 4811
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N = 2568
2568 circles in a circle

radius =   0.018501993275
ratio  =  54.048230648162

density  = 0.879087403259
contacts = 5443
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